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Moltiplicazione (verticale) Nome:
Risolvi ogni operazione. Risposte
1) 4.789 2) 1.972 3) 6.234 4) 4.603
X 5 X 4 X 3 X 2 L
2,
3.
4.
5 2.950 6) 5.740 7) 4.782 8) 3.977
X 8 X 6 X 4 x 2
5.
6.
7.
8.
9) 8.072 10) 2.407 11) 4.665 12) 8.624
X 5 X 8 X 5 x 9 9
10.
11.
12.
13) 8.905 14) 7.722 15) 3.635 16) 7.295
X 3 X 8 X 7 x 5
13.
14.
15.
16.
17) 3.198 18) 1.436 19) 8.440 20) 6.739
X 7 X 4 X 5 x 5
17.
18.
19.
20.
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Moltiplicazione (verticale) Nome:  Soluzioni
Risolvi ogni operazione. Risposte
1) 4.789 2) 1.972 3) 6.234 4) 4.603
x 5 x 4 x 3 x 2 1 23.945
23.945 7.888 18.702 9.206 '
2 7.888
3 18.702
4. 9.206
5) 2.950 6) 5.740 7) 4.782 8) 3.977
X 8 X 6 X 4 X 2 5 23.600
23.600 34.440 19.128 7.954 '
6. 34.440
7 19.128
8. 7.954
9) 8.072 10) 2.407 11) 4.665 12) 8.624
x5 x 8 xS x 9 o, 40.360
40.360 19.256 23.325 77.616 ' '
10 19.256
1 23.325
1o (7.616
13) 8.905 14) 7.722 15) 3.635 16) 7.295
X 3 X 8 X 7 x 5
26.715 61.776 25.445 36.475 1. 26.715
1a. 61776
15, 25.445
16, 36.475
17) 3.198 18) 1.436 19) 8.440 20) 6.739
X 7 X 4 X 5 x 5
22.386 5.744 42.200 33.695 17. 22.386
18 D.744
10, 42.200
20, 33.695
: 1-10 |95(90(85|80| 75| 70| 65| 60|55 |50
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Moltiplicazione (verticale) Nome:
Risolvi ogni operazione. Risposte
N\
23.945 23.600 7.954 23.325
1
34.440 40.360 9.206 18.702
19.128 7.888 77.616 19.256 ) 2
3
1) 4.789 2) 1.972 3) 6.234 4) 4.603 .
x 5 x 4 x 3 x 2 '
5.
6.
7.
8.
5 2.950 6) 5.740 7) 4.782 8) 3.977
x 8 x 6 x 4 x 2 >
10.
11.
12.
9) 8.072 10) 2.407 11) 4.665 12) 8.624
x 5 X 8 X 5 X 9
: Semplificato 1-10 | 92]83| 75| 67|58]50] 42| 33] 25| 17|
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